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Question 1 is compulsory and Answer any 6 from the remaining questions.
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1 [With usual notgtlons prove that. z =2t (G [08] | col L:
2 —1 =3 =1
2 [Find the rank of the matrix 2 = 071 | cos L3
1 0 1 1 ) ;
0 1 1 -1
3 Solve the following system using Seidel method (perform only 3 iterations): 071 cos L3

20x +y —2z =17, 3x + 20y —z = —18, 2x — 3y + 20z = 25.




Investigate the values of @ and b such that the following system may have (i)

infinitely many solutions (ii no solution (iii) unique solutions. [071| cos L3
x+2y+3z=6, x+3y+5z=09, 2x+5y+az=0>b.

2a Ji -
Find the pedal Equation for the curve P = (1 + COSQ) (071 | con L3
Find the angle between the following pairs of curves r=a(1+cos6) and
r=a(1-cosf) [07] | co1 L3
Find the radius of curvature of the curve x* + y* = 1 at the point (1, 1). [071| coj 13
Expand y(x) = tanx by Maclaurin’s series up to the term containing & 071 con i3
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